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Answer all questions.

Question 1: Covid-19 woes in the Steel Industry

Figure 1: EU Steel Production
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Figure 2: The Scale of COVID-19’s Impact on EU’s GDP
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Extract 1: OECD Steel Committee gravely concerned about impact of COVID-19 crisis
on steel market

Steel is a vital material for a modern, industrialised economy. Modern buildings, cars, ships,
tools, industrial machinery and household appliances would not be imaginable without its
unique and diverse properties. The OECD Steel Commitiee expressed grave concem at its
meeting this week over the deterioration in steel market conditions related to the COVID-19
crisis. The slump in demand caused by the global pandemic comes as steel production and
inventories continue to grow in China. The Committee also noted with concern that the
difficult market conditions were causing significant job losses in the industry.

The latest OECD data show that global steelmaking capacity could increase to 2,455.8
million metric tonnes (mmt) in 2020. While the gap between global capacity and production
narrowed from 2016 to 2019, it is likely to widen to as much as 700 mmt this year due to
overall capacity increases and production decreases resulting from COVID-19. The Steel
Committee noted that new steelmaking capacities due to come into operation in the Middle
East and Asia this year are set to exacerbate excess capacity.

During a virtual four-day meeting, the Committee also reiterated the need for further capacity
reductions in relevant economies, including by facilitating the exit of inefficient producers and
by supporting workers affected by plant closures.

Adapted from www.oecd.org, 29 Oct 2020

Extract 2: Nature of Steel Industry

One of the serious problems faced by the steel industry has to do with its size. On one hand,

due to over production, the export market of China grew substantially and resulted in it
dumping its excess inventory in all other countries. On the other hand, some maijor
producers (such as those in Europe and the United States) halted their manufacturing
operations internally to compensate for these cheaper imports from China. One of the
consequences of Chinese oversupply was the collapse of steel prices. This led to steel
industry job losses for several thousands of employees of Luxembourg’s ArcelorMittal, South
Korea's Posco, and US Steel, just to name a few. It is still unclear how the industry is going
to recover from these losses.

Source: hftps://www.frost.com/ 04 Apr 2018

Extract 3: Inflation or pollution? Tough choice facing China steel industry

China’s vast steel sector is the scene of a conflict between economic growth and a green
agenda that points to wider challenges as President Xi Jinping tries to clean up the world’s
top carbon emitter.

Early squeeze of steelmakers to cut output have fired up prices and created a headache for
policymakers fretting about surging inflation. Steel coil in China, used in everything from
cars to buildings, is the priciest it's been since 2008. Letting inflation run too hot is a risk to
the economy because it ends up provoking the authorities to put restrictions on the monetary
and fiscal measures that promote growth.

China produces well over half the world’s steel and the sector has long been targeted by the
authorities for persistent pollution. On average, 1.83 tons of CO, (a dominant greenhouse
gas) is emitted for every ton of steel produced. Air pollution itself contributes to an estimated
1.1 million premature deaths in China annually. Moreover, environmental issues cost the
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economy billions of dollars each year, with some recent estimates putting the toll at up to 10
percent of GDP.

China has ordered cuts in the key steeimaking hub of Tangshan in the north of the country,
and vowed nationwide checks to make sure regions aren’t flouting capacity curbs.
Tangshan’s crackdown will likely be repeated around the country amid “vigorous
enforcement of China’s supply curtailment policies,” Citigroup Inc.’s Tracy Liao said.

Adapted from https://www.aljazeera.com/ 14 Apr 2021;
https://www.theworldcounts.com (accessed on 17 Jan 2022)
https://www.cfr. org/backgrounder/china-climate-change-policies-environmental-degradation

Questions

(a)

(b)

(c)

(d)

(e)

With reference to Figure 1, compare the change in steel production between
Aug 2019 and Oct 2019 with production levels during the same period in the
previous year.

With reference to Extract 1 and Figure 2, and with the use of a relevant
diagram, explain why the OECD Steel Committee anticipated significant job
losses in the steel industry.

() With reference to Extract 1, explain the likely change in the value of the
price elasticity of supply of steel due to the change in global steelmaking
capacity.

(i) Discuss the factors which the OECD Steel Committee is likely to
consider when deciding whether to impose a price floor to improve the
steel market conditions in Extract 1.

With reference to Extract 2, explain the likely market structure that the global
steel industry is operating in.

“China’s vast steel sector is the scene of a conflict between economic growth
and a green agenda that points to wider challenges as President Xi Jinping
tries to clean up the world’s top carbon emitter.” (Extract 3)

Discuss whether the imposition of steel production cuts may help in achieving
the Chinese government's aim of pursuing “economic growth and a green
agenda”.

[2]

[4]

[2]

(8]

[4]

[10]

[Total: 30 marks]
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Question 2: Achieving Inclusive Growth in Singapore

Figure 3: Gini Coefficient Among Resident Employed Households in Singapore
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Source: The Straits Times, 21 February 2020

Extract 4: Singapore should focus on economic growth rather than redistributing a
smaller pie

In February, Deputy Prime Minister Heng Swee Keat highlighted that income inequality
measures in terms of the Gini coefficient in Singapore fell from 0.398 in 2019 to a historic
low of 0.375 in 2020 due to “massive transfers” and schemes aimed towards supporting
lower-income groups.

Such transfers took the form of continued subsidies to lower—income groups such as the
Workfare Income Supplement (WIS) scheme, top-ups to earnings and CPF accounts, as
well as one-off financial support for households experiencing a loss of income that tap on the
COVID-19 Support Grant, not to mention waivers on HDB loans and support for charities.

Some argue public policy should focus more on redistributive measures to help low-income
families. But how much is enough? In Singapore, the top 10 per cent of income earners
contribute about 80 per cent of all personal income tax. These are redistributed through
schemes such as Workfare, GST vouchers, as well as ongoing subsidies for the lower and
middle-income households in education, housing and healthcare among others.

As Ong Ye Kung highlighted in 2018 as Education Minister, low-income families (up to the
20th percentile) receive about S$4 in benefits for every dollar of tax that they pay.
Middle-income families (from the 41st to 60th percentile) receive S$2 for every tax dollar.
This rate of distribution is higher that the S$1.3 to S$1.40 that middle-income households
received for every tax dollar in the UK, US and Finland.

Moreover, any such redistributive focus should be balanced with a focus on economic
transformation and growth to expand revenue streams. Given that the global economy is
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facing resurging rates of COVID-19 infections due to the Delta variant, Singapore’s growth
prospects face strong headwinds and could be varied and unpredictable.

China’s growth forecasts have been slashed by investment banks last week. While US GDP
rose by 6.5 per cent year-on-year in the second quarter, this came well below expectations.
In such an environment, wanting to have more to redistribute in the future requires our
economy to ready our sails when the winds pick up. We need to grow the pie so each
portion can be bigger.

This is why Prime Minister Lee Hsien Loong’s National Day message focusing on inclusive
growth is a useful one. His emphasis on supporting low-wage workers to reskill to seize new
opportunities to achieve job progression and income wage strikes a pragmatic tone.

Source: Channel News Asia, 22 August 2021
Extract 5: Perceptions of Globalisation in Singapore

Despite the worldwide backlash against the openness of economies and the mass
movement of people around the globe, Singaporeans generally have a positive view of
globalisation, an Institute of Policy Studies (IPS) study on national pride and identity found.
But more than half of the respondents also believed that immigrants may take their jobs, with
people of lower socio-economic status more likely to express such worries.

The study polled 2,001 Singaporeans and permanent residents from a representative
national sample of households in 2020.

Overwhelmingly, people - 83 per cent - believed that globalisation benefits the economy and
Singaporeans in general. A smaller proportion, 17 per cent, said it benefits only foreigners
and the rich.

On immigration, 75 per cent of those polled agreed to a large or moderate extent that
immigrants provide a boost to the economy, and 62 per cent agreed that the newcomers
improve society by bringing in new ideas and culture. Even then, 50 per cent of the
respondents felt that immigrants take jobs away from Singaporeans, and 53 per cent
believed that the Government spends too much on helping them.

Those who are of a lower socio-economic class and received less education were more
likely to feel the competition. For instance, 58 per cent of those with less education agreed
that immigrants take jobs away from Singaporeans, while 43 per cent of those with higher
education, who have at least a degree, felt the same way.

This shows issues like foreign competition for jobs affect some groups more keenly than
others as they are more likely to suffer economic displacement and job losses as a resuilt of
globalisation.

Source: The Straits Times, 24 September 2021

Extract 6: Unemployment benefits may be considered if there is high unemployment

Singapore has managed to keep unemployment rates relatively low so far through
traineeship and job matching programmes, in spite of the devastating impact of the Covid-19

pandemic.

However, it may have to consider instituting some form of unemployment benefits if this
approach fails and Singapore ends up with high structural unemployment over time, Senior
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Minister Tharman Shanmugaratnam said. He noted that unemployment benefits or
unemployment insurance programmes are needed in advanced countries with high
unemployment.

Based on latest available data, Singapore’s resident unemployment rate stood at 3.3 per
cent and its overall unemployment rate is 2.4 per cent as of March. Mr Tharman reiterated
that the Singapore Government has managed to keep unemployment rates “far lower than...
elsewhere” because it has been able to quickly coordinate a range of programmes that
involve retraining workers, placing them on attachments and traineeships, and getting them
back in jobs more quickly.

He added that given the weak demand by employers for permanent job roles, Singapore is
devising schemes where the Government will subsidise attachments and traineeships in
firms so that people are “doing real work”, which would hopefully lead to a permanent job
position.

Apart from Singapore, Germany and other Northern European countries were examples of
advanced countries that have managed to keep unemployment in check through an active
labour market policy — measures aimed at helping workers renew their skills and stay
employed. This is in contrast with countries such as the United States, which provide those
who lost their jobs with unemployment benefits, but leave it to market forces to get them to
return to work.

“Once you're unemployed, particularly for some period of time, your skills tend to fade and
employers tend to disfavour you when you try to get back into the market,” Mr Tharman said.
“So the longer you're unemployed, the more difficuit it is to get back on track to find a decent
job and be on track for wage mobility."

Source: Today, 23 July 2020
Figure 4: Singapore’s Budget Balance (% of GDP)
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Questions

(a)

(b)

(c)

(d)

With the use of an example, explain why there is a difference between the
two Gini Coefficients shown in Figure 3.

() Explain one reason why the Singapore government aims to achieve
inclusive economic growth.

(i) With reference to Extract 5, explain one way in which globalisation can
positively impact and one way globalisation can negatively impact
Singapore’s pursuit of inclusive growth.

With reference to Extract 6:
() Explain why structural unemployment could be more of a concern
compared to unemployment due to “weak demand” (Extract 6).

(ii) Discuss whether Singapore should change its policies aimed at keeping
unemployment rates low, in view of the “devastating impact of the
Covid-19 pandemic”.

Discuss the extent to which you agree with the view that to achieve inclusive
growth, Singapore should focus more on policies to achieve economic growth
rather than on redistributive policies.

[2]

[2]

[4]

[4]

(8]

[10]

[Total: 30 marks]

~End of Paper~
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3

Answer three questions in total.
Section A

One or two of your three chosen questions must be from this section.

The shortage of semiconductors, the chips that help everything from cars to laptops to
toasters to function, has been a persistent snarl in the supply chains for electronics
throughout the pandemic. This shortage was supposed to work itself out—either as
manufacturing ramped up to meet demand, or as demand cooled down. Instead of
fading, the chip problem has become so unmanageable that it's on track to outlast the
lockdowns and closures that triggered the shortage in the first place.

(@) Explain why the price mechanism failed to correct the prevailing shortage [10]
of semiconductors.

(b) Discuss alternative methods that can be adopted by firms and [15]
governments to resolve the shortage of semiconductors.

The traditional brick-and-mortar retail industry in Singapore has been grappling with
challenges from a shrunken labour market, rising operating costs as well as intense
competition from their online rivals. In response to these challenges, these retailers
can either choose to adapt or to shut down. Before it closed, department store
operator Robinsons Singapore had tried to embark on digital innovation by setting up
its own app as well as selling its products on e-commerce platform Lazada.

(a) Explain how the above challenges may affect the profits of a [10]
brick-and-mortar retailer.

(b) Discuss the extent to which digital innovation would be the best way to [15]
increase profits in view of these challenges.

The Covid-19 pandemic has exposed severe underinvestment in research and
development (R&D) of vaccines to prevent public heaith crises. Policy makers have
attempted to issue patents and grants for pharmaceutical companies to encourage
discoveries in vaccine technology. The rights to manufacture vaccines are currently
held by a small group of pharmaceutical companies making extraordinary profits by
controlling the global supply, which results in expensive vaccines for consumers
especially from poor nations.

(a) Explain why markets might fail in the case of R&D for Covid-19 vaccine [10]
technology and where a small group of pharmaceutical companies
control the supply of Covid-19 vaccines.

(b) Evaluate the policies that could be adopted by governments to address  [15]
both these types of market failure.
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Section B

One or two of your three chosen questions must be from this section.

4 Fiscal policies should enable green and durable economic growth. As part of the
Green Plan 2030, Singapore has introduced a carbon tax and is setting aside $60
million to further support technological adoption in the agri-food sector.

IMF's January 2021 Fiscal Monitor Update

(a) Using the circular flow of income, explain the effects on national income [10]
when a country implements expansionary fiscal policy.

(b) Discuss the extent to which fiscal policies will be sufficient to achieve [15]
‘green and durable economic growth'’ in Singapore.

5 Singapore’s recovery from the pandemic is still subjected to risks and uncertainties,
both domestic and external. With global inflation on the rise due to border restrictions
and supply chain disruptions, the Monetary Authority of Singapore moved to tighten its
monetary policy by raising slightly the rate of appreciation of the Singapore dollar.

MAS Monetary Policy Statement Jan 2022

(a) Explain why Singapore chooses to tighten its monetary policy by [10]
appreciating its currency rather than by raising interest rates.

(b) In view of the uncertainties and uneven recovery in Singapore’s economy, [15]

discuss whether the Singapore government should focus primarily on
achieving price stability over other macroeconomic aims.

6 During times of recession, some governments boost their economy through trade
while others protect their economy to improve domestic employment and income.

(a) Explain two protectionist measures that a government can undertake to [10]
achieve higher standards of living.

(b) Discuss the problems that a government has to consider when [15]
implementing protectionist policies to achieve higher standards of living.

~End of Paper~
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consider when deciding whether to impose a price floor to improve
the steel market conditions in Extract 1.

3
(c) [() |with reference to Extract 1, explain the likely change in the value of | [2]
the price elasticity of supply of steel due to the change in global
steelmaking capacity.
State change in PES value: rises [1]
Expiain: [1]
Rise in PES value due to greater ease/higher ability to increase Qs (as
there is greater spare capacity now compared to before) when there is a
rise in prices caused by rise in demand for steel.
(i) | Discuss the factors which the OECD Steel Committee is likely to | [8]

Command | Discuss

Content Decision making framework

Context OECD, Steel market

Schematic Plan

Introduction: Conditions of steel market, price floor

Body:
Factor #1 — Benefits of price floor
Factor #2 — Costs of price floor
Factor #3 — Availability of information, intended/unintended
consequences, etc.

Evaluation: Make a stand on which factor is most critical to the
Committee in deciding whether to impose the price control. Substantiate

the stand.

Briefly state conditions of steel market as indicated in Extract 1:
- Falling steel prices
- Significant job losses due to cut in steel output (probably due to plant
closure as well)
Hence, price control (i.e. price floor in this case). Briefly explain how
price floor works.

Factor #1 — Benefits (Effectiveness)
- Benefit (1): Able to reduce fall in TR of steel firms and keep some steel

firms afloat. Referring to Fig. 1:

i.  Suppose original TR, earned by steel firms = 0P,E,Q,. PED of steel
is assumed to be less than 1 due to “Steel is a vital material for a
modern, industrialised economy” (Ext 1).

ii. If aprice floor of OP; were to be imposed, this will lead to a fall in
quantity demanded for steel. As PED<1, quantity demanded will fafl
less than proportionate to the increase in price. TR, = 0P,AQ,,
which is higher than TR,. Hence, this will help to reduce closure of
firms and number of workers to be retrenched.

iii. If governments of OECD countries are able to buy the surplus, this
will further increase TR and help protect jobs. TR will increase to
TR; = 0P,BQ,

Price

Fig. 1

Quantity of steel

- Benefit (Il): Lower unemployment of steel workers as it is likely that
fewer steel firms would need to close down.

Factor #2 — Costs (Surplus)

- Due to higher PES value, increase in price to P, will lead to a more
than proportionate increase in quantity supplied. Since quantity
demanded falls and quantity supplied increases, it can result in a large
surplus.

allocative inefficiencies in the market.

- If government were to purchase the surplus, then there will be a toll on
government spending, leading to opportunity cost. The impact can be
reduced if the surplus can be sold to other countries at a competitive
price. However there is a potential large opportunity cost if they are not
able to as the funding could have been used in the next best alternative
such as funding hospitals.

- Consumer surplus will fall. As steel is an important FOP for
manufacturing, the increase in price will lead to a rise in cost of
production leading to a fall in supply. Price of manufactured goods will
rise while quantity will fall. This might affect the derived demand for
stee! in the long run and less worker may be needed, worsening the
employment in the steel industry.

Factor #3 —~ Availability of Information

Committee would need estimation of values of PED (to estimate expected
fall in Qd for steel) and PES (o estimate expected increase in Qs). Doing
so will allow the computation of estimated amount of surplus of steel
produced (Qs-Qd).

Evaluation [2]
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Cutting steel output also saves the Chinese sconomy up to 10 percent
of GDP a year. Funds devoted to cleaning up of poliuted river and air
could otherwise be diverted to more productive uses such as building of
better social facilities (parks, bridges, better housing, efc) to benefit its
residents. As a result, China’s green agenda is achieved.

Evaluation of First Requirement:

The effectiveness of the quota depends on the ability of the government
to accurately determine the socially optimal level of output at Qs. If
there is an over-estimation or under-estimation of Qs, a deadweight
loss to society would remain. Nevertheless, given China's extent of
overproduction, it is likely that the deadweight loss implemented would
be reduced with the implementation of the quota.

Additionally, there are high enforcement and monitoring costs incurred
due to Ching's stringent implementation of the quota. This can result in
a strain on the government budget.

Early experience of cutling steel output fired up prices (Ext 3 para 2).
As a key FOP for the sconomy, the rise in price of steel coil, ceteris
paribus, will lead 1o a fall in SRAS from SRAS, to SRAS,. leading to
negative real economic growth (Y, to Y,). Should cost-push inflation be
too rampant, the authorities may have to restrict use of monetary and
fiscal measures so as to not worsen the situation by infroducing any
demand-pull inflation. in restricting AD growth, sconomic growth is also
hampered.

General Price
Level

fig. 1

SRAS

SRAS

Real GOP

i i) rement:

However, stesl production cuts can alse bring about economic growth.
Being the world’s largest steel producer, China's steel industry has long
heen targeted for persisient polluion {(Ext 3 para 3). Cutfling steel

Mark Scheme

production and its accompanying huge fall in amount of CO, {1.83 tons
of CO, per ton of steel) makes it easier for China to relinquish its
unglamourous title of the world’s ‘top carbon emitter’ (Ext 3 para 3).
Being a cleaner economy, China could then attract even more FDIs
which would alsoc want fo associale themselves with
environmentally-friendly and sustainable economies to attract more
customers who are also getting more environmentally conscious. With
higher investments, this results in an increase in AD. Via the muttiplier
effect, China could enjoy sustainable economic growth in the long run.

EVALUATION

The Chinese government ought to determine the right balance in trying
to achieve these two conflicting aims through a carefully calibrated
approach in its steef output cuts. Given the strict stance it adopted in
Tangshan and to be repeated around the country (Ext 3 para 4), the
Chinese government seems to place more emphasis on adhering to its
green agenda by cutting steel output.

The Chinese government could also relieve some of the ensuing cost
pressure in the economy via the use of other supply-side policies so
that the option to expand steel production would no longer be a
tempting one, thereby resuming its growth path and maintaining its
green agenda in the years to come.

Level2 |« Thorough knowledge and an excellent ability to explain
(5-7) how cutting steel production achieves one aim at the
expense of the other.
«  Use of relevant economic too! of analysis (e.g. AD/AS) is
expected.
» Reasoned (analytic) structure to the whole answer.

Level 1 Answer shows some knowledge of how cutting of steel
(1-4) production could achieve one aim at the expense of the
other.

+  May lack use of analytical tool in explanation.

+  Meaning of question not properly grasped (e.g. aim of
Chinese government not used as an anchor to the
answer).

» Basic errors of theory

+ Inadequately explained

For 1-2m:
* Afew valid points
«  Answer mostly irrelevant or inaccurate

E2 «  Synthesises economic arguments to armrive at
(2-3) well-reasoned judgements on whether Chinese gowt
ought to cut steel production.
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(increase in quantity of FOP) and lead tc an increase in AS, thereby
increasing real NY and hence positively impacting Singapore’s
pursuit of inclusive growth.

OR

The increase in residents in Singapore resulted in larger population
size which can lsad to greater C which leads to an increase in AD.
The real NY can increase via the muitiplier effect, leading to increase
in economic growth. This therefore positively impacts Singapore’s
pursuit of inclusive growth.

[Negative impact an pursuit of inclusive growth -2m]

However, due to greater inflow of foreign labour, Extract 5 suggests
that less educatedfiow skilled workers may lose their jobs as foreign
workers (who may be mors skilled or who may be willing to take a
lower pay) will replace them. There may be higher unemployment
rates among Singaporeans, particularly those who may have low
skills and low wages. This worsens income inequality and
negatively impacts Singapore’s pursuit of inclusive growth.

OR

The increase in foreign labour may alsc lead to a rise in supply of
labour, especially in the market for low-skilled labour. This may
lead to a fall in wages of low-skilled workers, worsening the
income inequality between low and high-skilled workers,
negatively impacting Singapore’s pursuit of inclusive growth.

increass in demand for labour which would reduce demand deficient
unemployment.

On the other hand, structural unempioyment is harder to correct.
Skills retraining is dependent on workers’ attitudes and mindsets.
Despite going for training courses, workers might still not be able to
master the relevant skills needed. Skills training also takes a long
time and the effects of policies to encourage reskiling may not be
seen in the near-term. This makes sfructural unemployment a greater
concem.

(i)

Discuss whether Singapore should change its policies aimed at
keeping unemployment rates low, in view of the “devastating
impact of the Covid-19 pandemic”.

(c)

With reference to Extract 6:

U]

Explain why structural unemployment could be more of a
concern compared to unemployment due to “weak demand”
(Extract 6).

[41

Suggested Answer:

Demand Deficient Unemployment tends to be shori-term as it follows
the business cycle. When there is a fall in AD, there will be a fall in NY
and demand for labour, resulting in demand-deficient unemployment.
However, once the economy recovers, the rise in AD will leadto a
rise in NY and demand for labour, automatically correcting
demand-deficient unemployment.

On the other hand, structural unemployment tends to be more
permanent since once a person’s skills are obsolete, they are unlikely
to be able to find a job unless they reskill. Over time, workers who
become discouraged from not being able to find a job may leave
the labour force. This reduces the LRAS of the country. Hence
structural unemployment could lead to more long term negative
impacts and may not be easy to resclve.

OR

Demand Deficient Unemployment is easier fo correct as
governments can adopt expansionary fiscal policy. An increase in G
would lead to an increase in AD which results in an increase in real
national income via a multiplier effect. This would lead to an

Question Analysis
Command Discuss whether
Content Singapore policies to keep U rates low
Context Covid 19-pandenic

Schemelic Plan

Introduction:
Identify the current policies Singapore has adopted to keep
unemployment rates low

Thesis: Anti-Thesis:
Singapore should not change its | Singapore should NOT change
policies aimed at keeping U rates | its policies aimed at keeping U
low rates low

o Explain how the current s Explain the limitations of
policies work and explain current policies
their effectiveness o Explain the effectiveness of
s Explain the limitations of other policies/approaches
other alternative
policies/approaches

Synthesis:
Whether or not Singapore should change its policies would depend
on..

Suggested Answer

Intro: identify current policies from Extract 6
- traineeship and job matching programmes
- programmes that involve retraining workers, placing them on
attachments and traineeships, and getting them back in jobs
more quickly.
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retraining workers would be most appropriate and there wouid not be a
need for change.

Finally, my judgement is that Singapore may not need to change its
policies for now but must continue to monitor the unemployment
situation. If the pandemic drags on and unemployment worsens, there
may be a need to consider the use of more expansionary measures to
increase AD which includes the use of unemployment benefits.

economic growth

on policies to achieve

on redistributive policies to
achieve irnclusive growth

Explain how focusing on
economic growth achieves
inclusive growth

Explain how focusing on
redistributive policies
achieves inclusive growth

Mark Scheme:
Level 2 »  Thorough knowledge and an excellent ability to
(4-8) analyse and evaluate policies adopted in Singapore

{including those mentioned in the case study), with
analysis of alternative policies
+  Reasoned (analytic} structure to the whole answer

Level 1 . Answer shows some knowledge of the policies

(1-3) adopted in Singapore to address unemployment
(there may be litle/no discussion of policies in the
case study}

< Meaning of question not properly grasped

+  Basic errors of theory

« Inadequately explained

For 1-2m:
»  Afew valid points
- Answer mostly irrelgvant or inaccurate

E2 «  Synthesises economic arguments to arrive at
(2} well-reasoned judgements about whether there is a
need to change the policies adopted in Singapore.

E1 Unsupported evaluative judgment.
&)

Explain how redistributive
policies might conflict with
economic growth (therefore it
is better to focus on policies

Explain how policies to
achieve economic growth
might conflict with achieving
equity (therefore it is better to

to achieve economic growth) focus on redistributive
policies)

(d)

Discuss the extent to which you agree with the view that to
achieve inclusive growth, Singapore should focus more on
policies to achieve economic growth rather than on redistributive
policies.

[10]

yestion Analysis

Command Discuss the extent fo which you agree

Content Policies to achieve inclusive growth
- Foous on economic growth OR
- Focus on redistributive policies

Context Singapore

Schematic Plan

Introduction: Explain inclusive growth

Thesis: To achieve inclusive Anti-thesis: To achieve inclusive
growth, SG should focus more arowth, SG shouid focus more

Judgment: Make a stand on whether SG should focus more on
policies to achieve economic growth or on redistributive polices.

Consider how these policies may not always be in conflict.

Suggesied Answer

introduction:

inclusive economic growth indicates a rate of growth that is sustained
over a period of time, is broad based across economic sectors and
creates productive employment opportunities for the majority of the
country’s population.

Achieving economic growth means growing Singapore’s GDP. This
can be done through increasing AD and AS. Redistributive policies aim
to promote greater equity, by transferring income from those with
higher incomes to those with lower incomes through laxes and
subsidies.

Thesis: To achieve inclusive growth, $G should focus more on
policies to achieve economic growth

Argument 1: Benefits of such policies in achieving inclusive growth

- The pre-requisite to achieving inclusive growth is achieving
actual growth. Extract 4 also suggests that “We need to grow
the pie s each portion can be bigger”

- This means there is a need for policies like expansionary FP.
When the govemment increases spending on infrastructure
such as MRTs or healthcare facilities, there is an increase in G
and AD (from ADO to AD1) which leads to a multiplied increase
in national income (from YO to Y1) since the increase in G
results in further increases in induced consumption.

- Furthermore, many of the policies to achieve growth such as
spending on infrastructure and training also increase LRAS
from ASO to AS1. This results in potential economic growth as
well, ensuring sustained economic growth.

- As shown in the diagram below, the increase in AD and AS has
led to an increase in real NY from YO to Y2.
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Mark Scheme:

»

Level 2
(-7

Thorough knowledge and an excellent ability to
explain benefits of implementing policies that focus
on achieving economic growth vis-&-vis polices that
focus on redistributing income, in order to achieve
inclusive growth.

Answer should recognise that achieving economic
growth is a pre-requisite for achieving inclusive
growth.

Answer should attempt to address whether focusing
on economic growth first is more important than
focusing on redistributing income.

Reasoned (analytic} structure to the whole answer

Level 1 4
{1-4}

3

.

Answer shows some knowledge of how to achieve
inclusive growth

Meaning of question not properly grasped (e.g.
answer may focus on explaining different types of
policies to achieve inclusive growth without realising
that the question is about whether there should first
be a focus on achieving economic growth or a focus
on redistributing income)

Basic errors of theory

inadequately explained

For 1-2m:

A few valid points
Answer mostly irrelevant or inaccurate

E2 .
23)

Synthesises economic arguments to arrive at
well-reasoned judgements on whether Singapore
should focus more on policies to achieve economic
growth or on redistributive policies.

)

E1 Unsupported evaluative judgment,

~End of Paper~
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In this case, a shortage ensues when the quantity demanded of semiconductors exceeds the
quantity supplied at the current price. As mentioned in the pre-amble, there was “persistent
snarl in the supply chains for electronics throughout the pandemic”. This could imply that
since many supply chains had been affected due to the lockdown, supply of semiconductors
would likely fall. There has also been an increase in the demand for semiconductors as there
was an increase in demand for electronic devices in light of the increase in number of people
working and studying remotely. Since semiconductors are factors of production of these
electronic devices, the increase in demand for electronic devices would have caused an
increase in the derived demand for semiconductors.

As seen in the diagram below, supply curve shifts from S, to S, while demand curve shifts
from D to D,. As such, there will be a shortage of Q4Q, at the existing equilibrium price of Py.
This is because as Py, the quantity supplied is at Q; but the quantity demanded is now at Q,
resulting in excess demand and a lack of supply. Usually, when there is a shortage, this will
create an upward pressure in prices as consumers will bid up prices to get the
semiconductors. When the price increases, quantity demanded will fall. The increase in price
signals to producers to increase production of semiconductors, increasing quantity supplied.
If the increase in price reaches P,, the shortage would be eliminated because quantity
demanded will fall from Q, to Q, and quantity supplied will rise from Q; to Q,. When quantity
demanded = quantity supplied, a new equilibrium is reached at P, and Q,.

Price

P,

Quantity

0

However, while the price of semiconductors has increased, it has been insufficient to clear
the shortage. This could also be due to the price elasticity of demand and supply for
semiconductors. The demand for semiconductors might be relatively price inelastic since
there are no close substitutes available for semiconductors. As stated in the pre-amble,
semiconductors are “the chips that help everything from cars to laptops to toasters to
function.” This also shows that they are vital components thus a necessity for the production
of various consumers’ goods. With a rise in price, quantity demanded will fall less than
proportionately, ceteris paribus. '

Furthermore, the supply of semiconductors is likely to be relatively price inelastic as the
pandemic had disrupted semiconductor firms’ access to its factors of production to be able to
respond quickly to the sudden increase in demand that led to a rise in price. This means that
quantity supplied of semiconductor would increase less than proportionately to the increase
in price, ceteris paribus.

Hence, a large rise in price might be needed to reduce the quantity demanded and increase
the quantity supplied of semiconductors so as to eliminate the shortage.

Conclusion:
In view of the large increase in demand for semiconductors due to the lockdown, coupled

with low PED and PES value for semiconductors, the shortage will be quite substantial. Thus
the shortage is unlikely to be eliminated in the short run even with a huge rise in price as

4

consumers and producers will require time to adjust their consumption and production
patterns in reaction to any price change and the changing market conditions.

e There is thorough knowledge, understanding and an excelient
ability to explain why the role of price mechanism failed to correct
the shortage of semiconductors.

¢ Diagram(s) are well used to show the role of price mechanism and
how a shortage exists when the quantity demanded exceeds the
quantity supplied at the original price of semiconductors.

o Application of the concept of elasticities to demonstrate that the
existence of a shortage could mean that both demand and supply
for semiconductors are price inelastic.

o There is in-depth analysis which might include explaining that the
price rise would not sufficient to reach the equilibrium price and | 8 -10
the shortage would remain.

o There is a reasoned (analytic) structure to the whole answer.

L3

The two required elements for this question are:

1. Clear analysis to show why the role of price mechanism failed
to correct the shortage of semiconductors using demand and
supply framework.

2. Able to apply elasticity concepts to explain the extent and the
inability of price mechanism to adjust itself in the short run.

e Answers relevant to the question but theory incompletely
explained.

e Undeveloped or under-developed explanations of why the role of
price mechanism failed to eliminate the prevailing shortage of

L2 semiconductor despite a rise in the price of semiconductor. 5-7

o Diagram(s) may not be well-used to show how a shortage exists
or diagram(s) may not align with the analysis.

e There may be irrelevant explanations about the potential causes
of a rise in demand &/or fall in supply of semiconductor.

Meaning of question not properly grasped.

Answer may not show understanding of how a shortage arises.
A few valid points.

Basic errors of theory.

Answer mostly irrelevant or inaccurate.

L1

{b) Discuss alternative methods that can be adopted by firms and governments to
resolve the shortage of semiconductors. [15]

ion i

| Command | Discuss: |
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The ease of regulation to allow essential businesses to continue to operate despite the
pandemic may lead to higher transmissions of the virus. Furthermore, even if the government
allows such operation, firms would still face shortage of labour and the lack of production
capacity.

To support the firms via subsidies, the governments would need to consider the feasibility of
such an intervention given the constraints of the budget. A reallocation of budget to
support the semiconductor industry would lead to an opportunity cost incurred in terms of the
next best alternative forgone, which could be the net benefit derived such as healthier
workforce if the governments allocate the funds to improve and expand the healthcare
industry especially due to the pandemic.

Recycling may not be effective if there is a lack of efforts to recycle unwanted electronic
devices or if there is a lack of expertise to salvage the components from the electronic
devices sent for recycling.

Judgment: . .

The shortage of semiconductors is uniikely to be resolved in the short run. it can at most be
reduced as all the methods would require a fair amount of time and resources to increase the
production of semiconductors.

The sudden shortage of semiconductor is due to a wave of panic-buying due to the
pandemic. Demand for products that require lots of semiconductors will likely continue to
rise, and there's little indication that this appetite for electronics will abate anytime soon. It's
likely that the pandemic has permanently changed certain modes of working and
communicating to rely more heavily on electronic (that is, semiconductor-driven) devices.
With the increasing use of technology and electronic devices, the demand will increase
rapidly. This would only worsen the shortage situation rapidly. Efforts to dampen demand
may be fairly ineffective. As such, firms and governments should focus more on increasing
supply due to the benefits it could bring to them in the long run. In addition, firms and
governments could work together to invest in R&D to reduce the reliance on semiconductors.

Mark Scheme

P  Knowladge, Application; Understanding, An 5 .
e Thorough knowledge and an excellent ability to explain facts and
theory in a precise, logical and reasoned manner (an analytic
explanation) pertaining to the various methods adopted by both
firms and governments to resolve the shortage of semiconductors.

e For a well-developed answer that demonstrates a good
understanding of various methods adopted by both firms and
governments to resolve the shortage.

o Well-balanced analysis of the various methods adopted by BOTH
firms and governments to reduce the shortage of semiconductors
and limitations of the various methods which may only be feasible
if certain conditions are met.

L3

The two required elements for this question are:

1. One method by EACH economic agent to reduce / resolve the
shortage of semiconductors.

2. One limitation faced by EACH economic agent adopting the
method suggested.

8

e For an under-developed answer that demonstrates some
understanding of the various methods adopted by either firms or
governments to resolve the shortage.

o Answer given is relevant to the question but theory incompletely
explained.

o There is some consideration of how the various methods could
work &/or how the methods suggested could only be appropriate if
certain conditions are met.

L1

E3

e For an answer that demonstrates litle knowledge of the various
methods adopted by firms and governments.

o Meaning of question not properly grasped.

s Basic errors of theory.

» Various methods suggested are mostly irrelevant or inaccurate.

For a well-developed judgement on the various methods adopted by
BOTH firms and govemments to address the shortage of
semiconductors. For example, the ability to recognise unstated
assumptions, time period etc.

E2

Some attempt to evaluation or a summative conclusion.

For an under-developed judgement on the various methods adopted
by firms &/or governments. For example, relevant to the question but
does not explain the judgement or base it on relevant analysis.

2-3

E1

For an unexplained judgement on the various methods adopted by
firms &/or governments.
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11

As a result of the above challenges, this would lead to lower profits earned by the
brick-and-mortar retailer as the demand decreased due to rising competition from online
retailers as well as due to the rising cost of production due to the rising rent and wages
incurred.

Mark Scheme

__ Knowladge, Application, Understanding, And

e There is thorough knowledge, understanding and an excellent
ability to explain how the challenges may affect the profits of a
brick-and mortar retailer.

o Diagram(s) are well used to explain how the challenges may affect
the profits of a brick-and mortar retailer.

e Application of the concept of cost and revenue to demonstrate
and explain how the challenges may affect the profits of a
brick-and mortar retailer.

L3 e There is in-depth analysis which might include explaining how the
challenges may affect the profits of a brick-and mortar retailer

¢ There is a reasoned (analytic) structure to the whole answer.

The two required elements for this question are:

1. Clear analysis to show how the intense competition from online
rivals may lower profits as the total revenue decreases.

2. Clear analysis to show how the shrunken labour market and rise
in operating cost may lower profits as total cost increases.

12
Other ways that are better
_e.g. Brand Loyalty, etc
Explain how digital innovation can help Explain how other strategy for e.g.
to increase profits pricing strategy may be better
Synthesis
Stand & Justification

s Answers relevant to the question but theory incompletely
explained.

s Undeveloped or under-developed explanations on how the

L2 challenges may affect the profits of a brick-and mortar retailer 5-7

¢ Diagram(s) may not be well-used to show how the challenges may
affect the profits of a brick-and mortar retailer There may be
irrelevant explanations about effects of total cost or total revenue

Meaning of question not properly grasped.

Answer may not show understanding of how a shortage arises.
A few valid points.

Basic errors of theory.

Answer mostly irrelevant or inaccurate.

L1

ion A i

Command Word Discuss the extent

Content Digital innovation
Best way
Increase profits
In view of challenges

Context Brick-and-mortar retailer

Schematic Plan

Objective: Increasing profits in view of the challenges

Requirement 1: Digital Innovation is the Requirement 2:
best way Digital Innovation is not the best way.

Introduction

Afirm usually seeks to maximise profits. In view of the challenges discussed in part (a), this
would lead to a fall in the profits of brick-and-mortar retailers. As such, in reaction to these
challenges, brick-and-mortar retailer may choose to use a variety of strategies to increase
their profits.

In light of the intense competition from its online rivals, a brick-and-mortar retailer may look to
use technology to create an immersive, personalized and unique retail experience for its
customers. Brick-and-mortar retailers can make use of cutting-edge technologies such as
artificial intelligence (Al), augmented reality (AR) and virtual reality (VR) to enhance the
shopping experience of its customers. Commune, a homegrown fumiture retailer employs the
use of virtual reality (VR) and augmented reality (AR) together with its Commune: In Motion
app to allow its customers to instantly see what furniture pieces would look like in a space so
as to help customers better visualize the end product and feel comfortable with the design
before making a purchase. Assuming the success of the strategy, this would lead to an
increase demand for brick-and-mortar retailer’s product and thus lead to an increase in AR
and MR which is represented by a rightward shift in the diagram below from AR1=DD1 to
AR2=DD2 and MR1 to MR2. Assuming ceteris paribus, this would lead to increased profits
from areas P1ABAC1 to P2CDAC2.

Price/ Cost/ Revenue

e;JumssN ARI=DD1 AR2=DD2 Qy
Additionally, given the rising costs, brick-and-mortar retailers can adopt digital automation as
a way to reduce costs, improve efficiency and boost customer experiences. Automation
introduced to time-consuming, routine, tedious and repetitive retail tasks in the form of
stock-taking can be performed by the automated inventory management system. Additionally,
given the manpower crunch, robots or even automated checkout counters could be
employed to reduce the reliance of labour and thus mitigate the rise in cost of production.
With rising rental costs, brick-and-mortar retailers can also look to move some of its
operations online via the setting up of an online retail store while maintaining a smaller
physical shopfront. This would help to manage the rising rental costs.
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15 16
— gq | For an unexplained judgement on whether digital innovation is Ew_ 1 _
best way to increase profits in view of the challenges. 3 The Covid-19 pandemic has exposed severe underinvestment in research and

development (R&D) of vaccines to prevent public health crises. Policy makers have
attempted to issue patents and grants for pharmaceutical companies to encourage
discoveries in vaccine technology. The rights to manufacture vaccines are currently
held by a small group of pharmaceutical companies making extraordinary profits by
controlling the global supply, which resuits in expensive vaccines for consumers
especially from poor nations.

(a) Explain why markets might fail in the case of R&D for Covid-19 vaccine  [10]
technology and where a small group of pharmaceutical companies
control the supply of Covid-19 vaccines.

(b) Evaluate the policies that could be adopted by governments to address  [15]
both these types of market failure.

Suggested Answers

Part (a)

Explain why markets might fail in the case of R&D for Covid-19 vaccine technology and
where a small group of pharmaceutical companies control the supply of Covid-19 vaccines.

(1o}

Schematic Plan

Introduction:
¢ Briefly state the source of market failures in the 2 different cases i.e.
1) R&D for Covid-19 vaccine technology and 2) smali group of pharmaceutical
companies controlling the supply of Covid-19 vaccines.
¢ Recognize that in both cases result in underproduction of R&D and Covid-19
vaccines and hence result in allocative inefficiency

for Covid-1

vaccine technolo

Positive externality in production
Draw MSB-MSC diagram and Market Dominance
explain with use of diagram how | Draw oligopolistic firm diagram and explain with
the ignorance of positive use of diagram how the market dominance
externalities results in result in P> MC and hence DWL

underproduction and hence DWL

Brief Conclusion that summarise answers.

Introduction

There are several reasons why a market fails to allocate resources efficiently.

e In the case of R&D for Covid-19 vaccine technology, the market fails to allocate
resources efficiently as producers (the pharmaceuticai companies) ignore the
presence of the positive externalities that fall on third parties.

More papers available at www.testpapersfree.com



BP~551

‘posilIXewWw
S| (y424d) snjdins Jsunsuod pue (y°4do) snidins jeoanpold Jo Wwins ay} esnesaq uoiadwos
yoepad ul passiyoe S| Aousioy)s aAledoje “Adq0 Jo soud e pue 24 jo Indino ue usaib ‘snyl

"IN = d ‘97 ‘indino ay) jo yun ise| sy} Buonpoud jo 1503 [eublew ay) 0}
{enba si 2440 aoud siyy -eano Ajddns 19duBW puB puBWeP ISHIELW ) USdMIS] UO|}0asIaul
10 od sy} ‘y Juod wnuginbe je 24qg Jo soud e sabieyo pue 24 jo Indino ue ssonpoud
1 ew/Asnpy) ay) ‘uonnedwos josuad Jspun ‘enoge welibeip sy) 0} soussajal UM

SQUIBIEA
&1-PINGTLIO AJauenT) O o) o

{Aiddng) ow

A 4
18| aAlledwon Apoapad sy} anoge

saoud esies Jo Indino 1ouIses 0} Weyl smojje Jeys Jemod 1duew Aofus suwuy onsyodob)o

asey} ‘Ynsal B Sy "SSUIDOBA GL-plA0D Jo Alddns %mo»m wmw _o._w:oo jey; ssiuedwod
nGaAaY 71507 914

feonneseuwieyd Jueuiwop abie; may B Aluo aie aiey) ‘ASnpul SUIDJBA mr-v_>oo feqo|b ayy ug

*aiN|Iey }SHUBW Ul YNSII PINOM SUIDOBA 6-PIAOD BU} Ul SDUBUILIOP JaHJew moy ujejdxg

Apog

‘spdp Ag uoionpoad-ispun ay} JO )Nsel B se HFY BsJe JO SSo|
ybiempeep/aiejiem B aq (M aie\) ‘sDAD @1 peonpoid-ispun Junowe 8y} Joj SJSO0 [eloos
< sjyeusq [e100s aouls spgOdD esle o} fenba sI spdy sonpoud 0} ssoinosad Buisn Jo 1500
[e100s su} sjym ‘spgwdp ease o) jenba si psonpoud jou st eyl sHdd jo Auuenb siyy jo
A1@100s 8} 0} peploooe sBUS] [BID0S 8y} ‘Junowe sp -dp J0 uojonpoadispun ey} 0} snQq

*ABojouyoasy
QUIDTBA §1-PIAOD 0} (T8Y JO uononpoid ey} 0} PaeoO)le Useq SABY PINOD S80IN0Sal IO
*ABOJOULDS} BUIDORA 6|PIACD IO} (FY JO uononpoldiapun Ue S| 8isy) ‘sp) UeY} Jemoj st dp) sy

8}

"pesILIXELW Si a1ejam A1BI00S Ut aIsym DSIN=ASIN a48ym sinooo
‘spO ‘ABojouyD8)} BUISIBA §1-PIAOD 10} (TFH JO INAINO Jo jaAs| winwndo A)jeIsos ey) 4eAsmoH

‘uojionpoud Jo [aAs} wnuqinbs 1eyJew ay) sjussaidal
D0 ‘adusH ‘(DdW) 180D ereald [eubie = (GdIN) Weueg eleaud |euibiely sisym juiod
a1 0} dn eonpoud jjim syyoud esiwixew o) wie jey} ssjuedwos [eanneseuleyd ay} esneosqy
S1 SIUL "dDO 18 8q IIM SUIOOEA 61-PIACD 10} Q%Y JO uononpoid 8l '1exiewW 88l 8y} 0} e

ABojouyos) 5, 8
BUIBA B1-PINGD L a
Jo} (19 jo Auent gaN I
95 .
IS = 26N
f sigeusgysison

‘sjene] Indino |[e Je gdiN < ASIN 18ym
‘mojeq weibeip u) pajussaidal Se gdiN PUB GSN Ueamiaq eouablsAlp B 8Q pinom assyl
‘ABojouyoey 61-pIN0Y 40} gy 40 uononposd Ul Aljeussixe eaysod Jo eousserd ey 0} sng

*afiie) Je A18190s 8y} S)yeusq Jey) SaUI0ORA 10 sBrup
mau ejeaio 0) ebpsimoun] yBnoaypiea.q sy) Jo esn axew 0} 8jqe 184 Ing ABojouyoe) 61-PIA0D
10} (%Y @Y Ul peajoaul Apoelip 1ou ee Jeyl swuy jeonneseuueyd Jaylo se yons sejued
Py} Jyeueq bW SIy ‘80UBH “6L-PIAOD SE UoNs SeSEBssIP Jejiuils Ul uoiieacuu; nds djay
Wb yeyy ebpemow} mau s)eaid pue pley Jeatpsw ul ybnosypjeaiq esnes ybiw ABojouyoe)
61-PIA0D Joy QY "seluedwos |eopnaoeuleyd oyy Aq peloub) aie jey} senyeuwsIXe
ealjisod Jo eousserd e s} aisy) ‘ABojouyos) BUID0BA §L-PIACD 10} (TBY JO 1eMJew ey} u|

*ain|ie} J@jew u) nsal pjnom ABojouy sy sutooea
61-PIA0D 10} @Y JO 1dMEW 8y} U] senijewlaixe aanisod Jo aosussald ay) moy uejdxy

Apog

‘asejem A19100s
SS|LWIXELW 0) SBUJOOBA §1-PIAOD JO UonoNpoid 8y} 0} PaJesOoj|e UBSH SABY PINOYS S80IN0Sal
aIOW JoUSY pUB SBUIDOBA GL-PIAOD JO uoRoNposdispun Uy ynsal Sesed asey} Jo uiog

“Jamod jexeLt JuedUBIS ARy 0} SuLll 8Y) SMOoje
UOIYM SOURLIWIOP W SI 90U} SB S|iB) J8)JeW BY) ‘BUISOBA 61-PIA0D 10 Aiddns
ey} Bujoauoo sejuedwos [eaonnesewueyd Jo dnoib [ews e S| B1eU} aieyM BSEO By U] @

L}

More papers available at www.testpapersfree.com




BP~552

19

However, given the oligopolistic nature of Covid-19 vaccines industry, it will produce at
output level Q,, where MR = MC in order to maximise its profit.

At the profit-maximising output Qy, the pharmaceutical company charges a higher price of
0P, By producing 0Q,, the pharmaceutical company’s output of Covid-19 vaccines is less
than the perfectly competitive output of 0Quc and the price OP, charged by the
pharmaceutical firm is higher than the marginal cost (MC,) at output 0Qy.

In restricting its output to 0Qy, to charge a higher price OPy,, the pharmaceutical company is
allocatively inefficient because the price charged is greater than marginal cost (P > MC).
Since beyond 0Q,,, for every additional unit produced and sold, the value of the additional
benefit gained is greater than the additional cost incurred by society, there would be a
society welfare loss or deadweight loss of ABC. Thus, the good is said to be
under-produced by the monopolist and there is under-allocation of resources as societal
welfare is maximised when output is at OQpc. Due to the deadweight loss of area ABC,
societal welfare is not maximised. Therefore, market failure results where there is market
dominance a small group of pharmaceutical companies control the supply of Covid-19
vaccines.

Conclusion

In conclusion, markets might fail in the case of R&D for Covid-19 vaccine technology and
where a smali group of pharmaceutical companies control the supply of Covid-19 vaccines
due to the presence of positive externalities and market dominance respectively.

Mark scheme

Thorough explanation of two sources of market failure as well
as being able to apply to real-life context and with the use of
examples relating to R&D and Covid-19 vaccines

L2 Incomplete/ Insufficient explanations of two sources of market 5-7
failure.
L1 inability to explain two sources of market failure satisfactorily, 1-4

resulting in an incomplete answer.

20
Part (b)

Evaluate the policies that could be adopted by governments to address both these types of
market failure. {15]

Schematic Plan

introduction:
o Briefly state the policies that could be adopted to solve the 2 different market
failures identified in part (a).
o State that the objective of the policies is to achieve allocative efficiency through
increasing production of R&D for Covid-19 technology as well as Covid-19
vaccines.

Body 2:

To solve positive externality in production,
students should suggest any one of the To solve market dominance, students should
policies: suggest any one of the following policies:
1) Subsidies or grants to 1) Legislation to increase competition
pharmaceutical firms to engage through enforcement of
in R&D Competition Act / Anti-trust laws
2) Patents to protect innovation 2) Nationalisation

Explain advantages and disadvantages | Explain advantages and disadvantages the
the policy suggested. policy suggested.

Conclusion
e Evaluate if the policies suggested are overall effective in various context by
considering the extent of their advantages or disadvantages.

Introduction

To correct the market failure caused by presence of positive externalities in the market of
R&D for Covid-19 technology, the govermments could implement the following policies:

e Provide subsidies or grants as well as
e Issue patents to the pharmaceutical firms.

On the other hand, to correct the market failure caused by market dominance among the
pharmaceutical companies that control the global supply of Covid-19 vaccines, the
governments could implement the following policies:

e Legislation to increase competition through enforcement of
Competition Act / Anti-trust laws
e Nationalisation

These policies to correct these 2 types of market aim to achieve allocative efficiency by
increasing production of R&D and covid-19 vaccines. Through increasing production, more
resources would be allocated to the production of these 2 goods.
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The deadweight loss of ABC is eliminated. As a result, resources are efficiently allocated and
society’s welfare is maximised as the underproduction of R&D is reduced.

Disadvantages of Patent

The main drawback of patents is their negative impact on the level competition in the
markets. As patents are an exclusive right that creates a temporary monopoly, the patent
holder, i.e. the pharmaceutical company, can set a market price higher than the competitive
price and limit the production. In other words, patents can breed market dominance and
create another form of market failure in the Covid-19 vaccine industry,

Furthermore, patent protection may also hamper further innovation, especially when it limits
access to essential basic/fundamental knowledge in emerging technological areas. If
Covid-19 vaccine technology is a new essential knowledge that is fundamental in creating
other breakthrough in medical fields for e.g. creating other flu variant vaccines, it might
further hamper further R&D and hence innovation by other firms in the whole industry.

Advantages of Patent

Nevertheless, patents might create a positive impact on competition as small
pharmaceutical companies, granted with patent, might be able to assert their right in front of
larger ones. Furthermore, patent may incentivise entrepreneurs or new pharmaceutical
companies to obtain funds from venture capitalists. This promotes market entry and
increase the level of competition in the market of R&D for Covid-19 vaccine technology.

1) Legislation to increase competition through enforcement of Competition Act /
Anti-trust laws

To reduce the market dominance among the pharmaceutical companies that control the
global supply of Covid-19 vaccines, governments could enforce anti-trust laws or legislation
that increase competition among the firms.

These laws are designed to prevent the formation of monopolies and to curb possibie
collusive behaviour of the small number of pharmaceutical companies in the industry.
Hence, these laws would limit price-fixing practices and territorial arrangements between
pharmaceutical firms. Mergers or acquisition that lead to pharmaceutical companies gaining
substantial market power can also be prevented.

In essence, the enforcement of anti-trust law could help prevent any single large firm from
exercising monopoly power by restricting the global supply of Covid-19 vaccines and hiking
up the price of the vaccines above marginal cost. Thus, such laws would be able to reduce
underproduction of Covid-19 vaccines and hence achieve allocative efficiency.

Advantages of legislation to increase competition

24

One benefit of using legislation is the government possess the legal authority to ensure
compliance. Once an effective date is set by the government, the law takes effects
immediately.

Limitations of legislation to increase competition

Anti-trust laws may prevent the formation of monopolies and thus the existing smaller firms
are unable to achieve substantial economies of scale. Hence, instead of enjoying lower
average costs (LRAC) and passing on the cost-savings to consumers through lower prices,
these pharmaceutical firms may compromise on consumer welfare by selling at higher
prices for their Covid-19 vaccines due to their higher average cost arising from producing on
a smaller scale.

2) Nationalisation

To reduce the market failure caused by the market dominance among the pharmaceutical
firms producing the Covid-19 vaccines, the government can take control of this Covid-19
vaccine industry that was previously owned by private firms. This policy is known as
nationalisation.

Having the Covid-19 vaccine industries under public ownership may result in greater
efficiency than if they were under private ownership because the government-run company
is no longer driven by the u_‘%?q:wx:ammzo: goal. As a result, the nationalised firm would
be able to set price based on social factors and the price of the Covid-19 vaccine might
now be closer to the marginal cost. When this happens, there would be greater production
of Covid-19 vaccines that promotes allocative efficiency.

Advantages of nationalisation

Government-run monopolies are advantageous because they usually do not have a
profit-maximising objective.

Hence, the govemment can decide whether or not to supply Covid-18 vaccine to
households on grounds that are not related to cost or profit. In other words, all consumers,
regardless of lower or higher income, would be able to receive Covid-19 vaccine at an
equitable price.

Disadvantages of nationalisation

Nationalised industries/firms are often inefficient due to a lack of competition and
profit-maximising motive. Thus, the firm has less incentive to be cost efficient and the
bureaucratic structure can lead to managerial diseconomies of scale.

Opportunity cost is incurred as money spent could be used in other areas e.g. education,
which may be beneficial in the long run to the economic growth of the country and generate
income for the country.

Conclusion

In congclusion, to correct the 2 types of market failures caused by positive externalities in
production of R&D for vaccine technology and market dominance in the Covid-19 industry,
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Fiscal policies should enable green and durable economic growth. As part of the
Green Plan 2030, Singapore has introduced a carbon tax and is setting aside $60

million to further support technological adoption in the agri-food sector.

IMF's January 2021 Fiscal Monitor Update

(a) Using the circular flow of income, explain the effects on national income
when a country implements expansionary fiscal policy.

f10]

28

(b) Discuss the extent to which fiscal policies will be sufficient to achieve [15]
‘green and durable economic growth’ in Singapore.
(a) | Using the circular flow of income, explain the effects on national income when a

country implements expansionary fiscal policy.

[10
1

Command word | Explain

Concepts e Circular Flow of Income (Injections, Withdrawals)
o Nationa!l Income (multiplied increase)

e Expansionary Fiscal Policy (1G, | Taxes)

Context Open

ion: K

The circular flow of income illustrates the flow of money as well as goods and
services between producers and consumers in an economy. For an open
economy, the Circular Flow Model comprises of households, firms,
government and the foreign sector.

{1} Haonal fncome (Viages, reets, inzeveat and profies)
_ Factor serices 1
L3
Households Firms
{Consumers} (Preducers)
” Suttpar of gonds 39d servicas
£23 Consumprian Bx + 50 geovis and servizes {C)
(3] Swvings (3
it
" Taverarment
withdrawals
i8] Tages T3 dizuze (04
(%} ) Taeee T, Government expendinure (03 tojections (T}
5} bnport Exgort
oty Foreignonctor | snt

Figure 1: Circular Flow of income (Open Economy)

As seen in Figure 1, investments by fims (1), government expenditure (G) on
goods and services and export revenue (X) from foreigners are injections (J)
into the circular flow. Savings (S), tax payments (T) to the government and
import expenditure (M) to the foreign sector are withdrawals (W) from the
circular flow of income. An economy is said to be in equilibrium only when total
injections are equal to total withdrawals.

There are several assumptions regarding the circular flow of income. The
general price level is constant, the economy is operating at spare capacity, and
the marginal propensity to import, save, tax, and consume are constant.

Governments often use expansionary fiscal policy to boost an economy by
lowering taxes and/or Increasing government expenditure.

A lowering of taxes such as direct taxes will result in a fall in T and a decrease
in withdrawals in the circular flow of income model. Assuming that the fall in
taxes is $100 million, there would be a fall in withdrawals by $100 million. Since
J>W, the economy is said to be in disequilibrium.

Or

Increasing government expenditure will result in an increase in G and an
increase in injections in the circular flow of income model. Assuming that the
increase in govemment expenditure is $100 million, there would be an increase
in injections by $100 million. Since J>W, the economy is said to be in
disequilibrium.

Body: Re-establishing equilibrium in the Circular Flow of Income
The disequilibrium will initiate a process to bring the economy back to a state of
equilibrium where J=W.

In order to meet the increase in demand for goods and services, firms would
demand more factors of production (FOPs) such as labour and other resources
from households. Firms would thus increase factor payment to the owners of
these FOPs. Hence, households experience an increase in income by the
amount of $100 million. With increased income, households tend to consume
more domestic goods and services, save more, pay more taxes to the
government, and purchase more imports. These lead to a rise in withdrawals
in the circular flow of income model.

Assuming that the sum of MPS, MPT, MPM is 0.5, households would also
purchase more goods and services from firms due to the rise in income of $100
million. This is due to the rise in induced consumption which refers to
consumption induced or generated by changes in income. In tumn, this would
increase induced consumption by $50 million. The increased expenditure by
households increases the demand for goods and services. To produce more
goods, firms would increase their factor payments to the owners of FOPs by the
amount of $50 million. Hence, the households experience another wave of
rising income of $50 million. As before, with increased income, households tend
to consume more domestic goods and services, save more, pay more taxes fo
the govemment, and purchase more imports. Given that MPS, MPT and MPM
are constant, this would increase the withdrawais from the circular fiow by the
amount of $25 million. Simitarly, the rising income would reduce households’
expenditure on goods from firms by the amount of $25 million. The cycle then
repeats multiple rounds.

This would result in a multiplied increase in equilibrium level of national
income by $200

(e, k=

ion since the multiplier value, in this instance, would be 2

1
MPS+MPT+MPM v

mma K& state the effe 9 B
When withdrawals have risen to match the injections (J=W), the equilibrium
will be restored. Therefore, when a country implements expansionary fiscal

policy, national income would have increased by a multiplied amount.
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(injections) equals the total increase in savings, taxes and spending on imports
(withdrawals). Actual growth is achieved.

Furthermore, a key policy for Singapore to achieve sustained economic growth
has been fiscal policy that focuses on capital accumulation/ capital
formation. By encouraging investment in technology- driven research and
development (R&D) in the agri-food sector through grants or subsidies, and
assuming that such R&D projects tumn out to be successful, more output could
be produced with the same amount of resources. This results in an increase in
productive capacity and an Increase in LRAS and potential growth. if R&D
leads to a lower unit cost of production, this can also increase SRAS.

As a result, sustained growth (actual growth accompanied by potential growth),
a prerequisite for sustainable growth is achieved. Given that such harnessing of
technology can combat the effects of climate change, fiscal policies are largely
sufficient to achieve sustained and sustainable growth as environmental
problems are not generated for future generation.

Limitations of fiscal policies in achieving ‘green and durable economic
growth’

However, fiscal policies are not sufficient given Singapore's high marginal
propensity to import (MPM) and high marginal propensity to save (MPS), there
is a high marginal propensity to withdraw (MPW) resulting in a small mulitiplier
size k. As a result, fiscal policies to increase AD will be less effective in raising
real national income and ensuring actual economic growth in Singapore.
Therefore, fiscal policy insufficient to achieve sustainable economic growth, and
therefore Singapore will need to implement other policies.

r urable ec
Singapore has also introduced environmental initiatives, such as the
introduction of a carbon tax to achieve sustainable economic growth. The
carbon price was initially set to S$5/metric ton, applied from 2019 to 2023.
Thereafter, it will be increased to between S$10/metric ton and S$15/metric ton
by 2030. This will provide a strong price signal and impetus to encourage
companies to reduce their emissions by making poliuters internalise the
negative externalities of production and reduce their carbon footprint in line with
national climate goals. As a result of negative extemalities, there is
overproduction of goods which generate carbon emissions. If a per unit tax =
MEC at Qs is implemented, this can allow for the Marginal Private Cost to
increase and coincide with the Marginal Social Cost. Then, the socially optimat
quantity of production will be achieved, which maximises societal welfare.
Additionally, introducing a carbon tax will incentivise emissions-producing
companies to switch to more sustainable production methods, further
reducing environmental problems in the economy. At the same time, tax
revenue collected from large emitters of harmful greenhouse gases can be
utilised to support further green initiatives for energy- intensive industries.

A cleaner, more sustainable Singapore attracts more investment, increasing
AD and LRAS, allowing for actual and potential economic growth. Thus,
this initiative towards a low-carbon future will help Singapore achieve
sustainable economic growth.

Limitations of a Carbon Tax in achieving ‘areen and durable economic
growth’

However, the effectiveness of carbon tax is contingent on its rate, which must
be high enough to incentivise companies, and the time period given for
industries to_adapt to the tax. Implementing a carbon tax will add to the cost of

32

production and the burden will fall on both producers and consumers in the
form of lowered profits and higher prices respectively.

Furthermore, Singapore has limited options for renewable energy, and the
carbon tax may thus not be effective in reducing the amount of carbon
emissions significantly if producers are unsuccessful in finding alternative
methods of production.

ion

In conclusion, fiscal policies, though effective in changing both AD and AS, are
largely insufficient to achieve ‘green and durable economic growth' in
Singapore, given the characteristics of the economy. The small multiplier size
significantly limits the increase in real national income affecting sustained
economic growth. Additionally, hamessing of technology does not guarantee a
quick addressing of climate change challenges, and thus other policies
should be considered to achieve 'green and durable economic growth’ in
Singapore.

One recommendation is thus for Singapore to adopt expansionary fiscal policy
accompanied with other reviewed policies to achieve sustainable economic
growth. While the future increase in carbon tax brings Singapore cioser to global
recommendations for advanced economies, given Singapore’s open
economy, it is also important that the carbon tax framework safeguards the
export competitiveness of trade-exposed industries. Beyond the carbon tax, the
government should also offer subsidies to ensure viable sources of renewable
energy are available for producers to tap on. Given current economic conditions
of rising oil prices and geopolitical tensions between Ukraine and Russia, the
accessibility of greener sources of energy becomes all the more important in
ensuring low costs of production and achieving sustainable economic growth.

With the structural changes brought about by technological adoption,
particularly in the agri-food sectar, the Singapore government should also
ensure continued efforts to retrain and upskill workers. The current policies of
SkillsFuture and Adapt and Grow should continue to be supported in order for
human capital to grow. This should also be complemented with efforts to
persuade workers who may be reluctant to reskill, and employers to leverage on
the relevant government policies implemented. Not only would reskilling reduce
the risk of structural unemployment, it would also increase the productivity and
quality of labour, increasing productive capacity and fueling potential economic
growth.

2l . ; TSN ; R
1.3 e Answer is relevant to question requirements: 8-10

o Shows in-depth knowledge of how expansionary fiscal

polices can have both demand and supply-side effects.
e Answer has sufficient depth:

o rigorous and detailed economic analysis that
demonstrates strong understanding of the AD/AS
framework and considers the effects on environmental
sustainability.

o relevant and precise use of economic concepts
(sustained and sustainable economic  growth,
components of AD, factors affecting SRAS and LRAS,
etc)
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Singapore’s small size means that domestic consumption and investment are relatively low.
To grow, Singapore needs to increase AD through exporting overseas. This has resulted in
the external component of AD for Singapore to be much higher than many other countries.
Singapore’s total trade is more than three times the size of its GDP. Again, this makes
exchange rate policy much more effective than interest rate policy as it targets exports and
imports while interest rate policy targets consumption and investment expenditure.

In 2021, Singapore's consumption expenditure (C) and investment expenditure (1) in % of
GDP is 30% and 23% respectively. In contrast, Singapore’s export revenue and import
expenditure in % of GDP is 180% and 153% respectively. Therefore, monetary policy leads
to a more significant impact on its economy when exchange rates are used.

a) Limited impact on AD when increasing interest rates which target C and |

increasing iir may have limited effects on the level of economic activities in Singapore.
Investments may depend on factors other than ifr. For instance, FDI inflows may not be
significantly affected by a rise in i/r as these MNCs usually do not need to borrow from
domestic financial institutions. In addition, long-term nature of FDIs makes growth potential
of the economy and political stability, among others, more relevant than short-term
fluctuations of ilr. Hence, changes in i/r do not have much effect on FDI.

The main bulk of consumption expenditure (C) tend to be independent of ifr. These include
the consumption of transport, food, medical advice, education, utilities, etc. Changes in i/r
affect mostly the purchase of big-ticket items such as durables like cars and fumiture. As
such, the consumption of ‘durables’ is unlikely to form the bulk of the expenditure of a typical
household. Hence, an increase in i/r will also be unlikely to exert a significant impact on level
of C.

Therefore the fall in C and | may not be significant enough to reduce AD and dampen
demand-pull inflation.

b) Significant impact when appreciating exchange rates which target exports and
imports

MAS adjusts the exchange rate through intervention in the forex markets to influence the
demand or supply of the domestic currency in the forex markets. To appreciate the Singapore
dollar, MAS can buy the domestic currency using foreign currency and increase its demand
in the foreign exchange market. By appreciating the cumency, price of exports in foreign
currency increases while price of imports in domestic currency falls. Assume Marshall-Lerner
condition holds, where PEDx+PEDm>1, net exports falls leading to a fall in AD, dampening
demand pull inflation.

2. Root cause of inflation - typically imported inflation

Singapore’s lack of natural resources causes it to import most of the raw materials and
intermediate merchandise needed for producing goods and services. Apart from this high
import content in final goods and services in Singapore, it also imports a ot of final goods
and services for final consumption. This makes the country very susceptible to imported
inflation. As such, the exchange rate policy, not interest rate policy, can be used effectively to
target imported inflation.

Hence, to prevent such cost push inflation, Singapore adopt a modest and gradual
appreciation stance for its Singapore dollar. For example, should there be a global oil shock
that increases the price of oil, MAS would adopt a tighter monetary policy stance where the
Singapore dollar appreciates. As Singapore dollar becomes relatively stronger than other
countries’ currencies, price of imported resources would be lower which would lower cost of
production of final goods and services in Singapore. This would help to reduce the fall in AS
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curve and hence dampen the increase in GPL, thus reducing the onset of imported price
push inflation.

3. Decision to adopt free capital mobility to retain Singapore’s position as the
regional and international financial hub

Singapore adopts free capital mobility which facilitates trade but makes controlling interest
rates difficult. Singapore being an open economy, does not have restrictions to short-term
capital movements. It is very open to short term-capital flows i.e. hot money.

Suppose that there is a cut in Singapore’s interest rate which results in a relatively lower
interest rate as compared to the world’s interest rate, there would be an outflow of hot money
or short-term capital outflow from Singapore. This is because short-term investors prefer to
save their funds in other countries that offer higher interest rates.

The outflow of hot money would reduce the supply of loanabie funds in Singapore, leading to
a fall in interest rate which negates the original cut in interest rate. Similarly, any initial
aftempt to raise the interest rates in Singapore would end up be negated or offset by the
inflow of hot money as the increase in the supply of loanable tunds reduces the interest rate
back.

It is not possible to prevent the above as Singapore, being a small economy lacks the ability
to control changes to its money supply as the volumes of ‘hot money' flows would be too
large relative to its domestic money supply. As such, it would be better for interest rates in
Singapore to follow US interest rates to avoid excessive hot money flows in and out of the
economy. Therefore, Singapore is an ‘interest rate taker'.

Hence, Singapore chooses to appreciate exchange rate over increasing interest rates as its
monetary tool for price stability because it is an interest rate taker, and also because the
exchange rate policy yields a bigger impact on its economy.

Level Knowledge, Application, Understanding and Analysis

Answer provides clear and developed explanation on why
Singapore does not increase interest rate as its monetary poiicy | 8 - 10
and why Singapore choose to appreciate exchange rate as its
monetary policy. Answers should relate to a more significant impact
L3 on Singapore’s price stability when exchange rates are used.
Reasons should take into consideration the nature of the
Singapore economy and that Singapore is an interest rate
taker/adopts free capital mobility.

Answer provides explanation on why Singapore does not choose | 5- 7
interest rate as its monetary tool or why Singapore choose
L2 exchange rate as its main monetary tool.

OR

Answer provides undeveloped explanation on why Singapore does
not choose interest rate as its main monetary tool and why
Singapore choose exchange rate as its main monetary tool.

Answer provides some knowledge of why Singapore does not 1-4

U choose interest rate as its main monetary tool orfand why

Singapore choose exchange rate as its main monetary tool.
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Increase in import prices for
FOP unit COP fall in

SRAS
Global economy recovery |Increase in demand for | Demand-pull inflation
foreign income increases goods and services
including Singapore’s
exports  Increase in X
Domestic economy | Increase in AD
recovers real income
increases Consumption also
increases _Increase in AD

Internal Factor: : Effect
Border restrictions resulting [ Unit labour cost increase | Cost-push inflation
in immobility of labour/ | fall in SRAS
productivity issues/
tightening foreign | Sunrise/ growth industries
manpower  tighten labour | will have to grapple with
market higher wages talent shortages and rising
costs.

Q

With an upward shift in Singapore’s inflation outiook, it is important for Singapore to primarily
focus on achieving price stability.

Benefits of price stability [Achieve other macro objectives]

Inflation is defined as a sustained increase in the general price level of goods and services.
The benefits of achieving price stability allow the Singapore government to achieve other
macro-objectives and raise standard of living.

Firstly, price stability brings about a sustained economic growth. A low and stable infiation
provides more certainty for households in making decisions on consumption and firms when
making investment decisions. Real income is less likely to fall since wage growth is likely to
outpace the low inflation, ensuring purchasing power increases or is at least maintained.
Consumers are thus more certain about future prices and their purchasing power,
encouraging increase in consumer expenditure (C).

With stable prices, firms are more certain about the expected returns to investment. They are
less likely to face sudden increases in cost of production or a fall in revenue thus increasing
investment expenditure (l).

The increase in C and | (including FDI) will lead to an increase in AD. National income will
increase by a multiplier effect, leading to actual growth. Given that labour is a derived
demand, there will be a decrease in demand deficient unemployment.

The increase in | on capital goods also increases the productive capacity of the economy
leading to a rise in LRAS, thus achieving potential economic growth. This will in turn dampen
demand-pull inflation when the economy continues to experience actual growth.

Price stability also allow Singapore to ensure export competitiveness. When inflation rates
are relatively lower than other countries, Singapore's exports will be relatively more
competitive. Assuming PEDx>1, export revenue rises. On the other hand, as domestic goods
are relatively cheaper, this may reduce the demand for imports, lowering import expenditure.
Net exports will rise leading to an increase in AD, helping Singapore’s balance of trade to
improve. As net exports is a component of AD, this also leads to a rise in AD and real

40
national income. This is particularly important for Singapore who is very dependent on
extemal trade.

Thus, Singapore should focus on price stability primarily especially in view of rising inflation
outiook.

Anti-thesis: Singapore should also focus on other macroeconomic aims eg structural
unemployment, inclusive economic growth and lifting the services and transport industries

Note to students: You are expected to analyse these factors in prose but there is no need to
include all these factors.

affected

Recurrence of Covid Border | Uneven  growth.  Slow | Economic growth/
restrictions hampens | recovery in industries such | demand-deficient
recovery in certain sectors as transport, services and | unemployment (especially
accommodation (particulardy | in certain sectors)
tourism

-related ‘

Internal Factor | Effect

Restructuring Digitalisation/ | Faster decline of sunset | Structura
automation Further | industries and rapid growth
accelerated by the pandemic | in  sunrise  industries
Mismatch of skills between
unemployed and jobs

| unemployment

available structural

unemployment
Covid pandemic income | Widening  income - gap | Inclusive economic growth
inequality between those with relevant

skilis and those whose skilis
are less mobile and unable
to move across sectors [not

necessarily low-skilled
workers] and other
vulne!

rable groups

From the above analysis, Singapore is also facing slow growth and unemployment in certain
industries, structural unemployment and widening income gap.

Some industries such as tourism experienced persistent setbacks due to the pandemic
significantly affecting its demand. The fall in revenue has significantly affected firms' profits.
Some firms need to downsize or retrench workers, resulting in demand-deficient
unemployment in these sectors. Prolonged unemployment in such sectors might result in
loss of skills and lower the employability of these workers. This will impact the productive
capacity in the economy as quality of labour falls. There could also be rising resentment if the
government do not stimulate demand or focus on relief support for such sectors.

There is also worsening of structural unemployment due to the faster rate of automation and
digitalization. It is necessary to ensure that the unemployed are adequately cushioned from
fall in income in the short run, perhaps through ftransfer payments and to provide
opportunities and subsidies to undergo training. This is to ensure they are equipped with the
relevant skills for the jobs available in the economy. There is also a rising need to match
potential employees to the sectors facing labour shortages by providing internship
opportunities and subsidising training fees.
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6 During times of recession, some governments boost their economy through trade
while others protect their economy to improve domestic employment and income.

(@) Explain two protectionist measures that a government can undertake to  [10]

achieve higher standards of living.

(b) Discuss the problems that a government has to consider when [18]

Introduction:

Using ADAS framework

implementing protectionist policies to achieve higher standards of living.

| Explain
Protectionist measures, standards of living

Reasons for Protectionism  to address both macroeconomic and
microeconomic problems that the economy is currently facing

Standard of living refers to the well-being of an average person in the economy
Standard of living includes the material and non-material aspects of welfare

Requirement 1: Tariffs
-__Effects on SOL:
___Increase price of imports ___Fffects on SOL:
___Decrease in quantity of imports __ stated limits on the physical
___Increase in AD results in increase quantity of imports
in NY via multiplier ___Decrease in quantity of imports
___Increase in material SOL ___Increase in AD results in increase in
NY via multiplier
Increase in material SOL
Conclusion

Suggested Answer:

Introduction:
Standard of living

refers to the well-being of an average person in the economy.

includes the material (quantitative) and non-material (qualitative) aspects of welfare.
Material SOL measures the quantity of final goods and services that is available to an
average person in the country in a given time period.

Real GDP per capita or real GNP per capita is often used as a proxy measure of the
material standard of living in a country over time.

State some reasons for Protectionism

To correct a Balance of Trade Deficit.

To promote economic growth and reduce unemployment.
To defend against unfair trade practices.

The infant industry argument.

State some Protectionist measures

Tariffs.

Non-tariff Measures
o Import Quotas.
o Import Licences.
o Export Subsidies.

o Foreign Exchange Controls.

Development:
Tariffs

- Tariffs, also known as custom duties are taxes imposed on imports of goods by the
government.

- The imposition of tariffs will result in an increase in prices of imported goods.

- This will encourage domestic consumers to switch to consuming domestically
produced goods instead of imported goods.

- Tariffs imposed can be either a specific tariff or an ad-valorem tariff.

S5 (World) w Tariff

SS {(World) w/o Tariff

DD {Domestic)

>

Q, Q, Q, Quantity

- From the diagram above, assuming that the govemment introduced a specific tariff of
P,P, imposed on imported rice, this will iead to a fall in supply of imported rice and the
world supply curve shift from SS(World) wio Tariff to SS(World) w Tariff, the amount of
the tariff on each unit of rice imported.

- With tariffs imposed, the new market price for rice will be 0P,

- At OP,, fotal quantity consumed of the good is 0Q, which consist of domestic
production 0Q, and imports Q,Q,

- Hence, there is a fall in quantity of imports from Q,Q,to Q,Q,.

- Assuming that demand for imports is price elastic, as a result of higher prices due to
the tariffs, the fall in the quantity of imports would be more than proportionate.

- As consumers purchase less imports and switch to purchasing domestic goods, there
is a fall in M and ceteris paribus, a rise in (X-M). Can also explain an increase in
domestic consumption (Cd)

Quota
Import quotas are stated limits on the physical quantity or amount of specific goods that can

be imported into a country.
- Acountry can introduce an import quota on imports to protect their local producers.

1]
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1u
P,

AD,

Y2

Ye

(GPL)

- Hence, the demand for labour increases, increasing employment.

- This will increase the material standard of living as Real GDP per capita increases,
assuming that population size is unchanged.

- As income increases, crime and financial anxiety of residents will decrease, and as a
result, non-material SOL increases.

- Hence protectionist policies can help to increase SOL.

showing how material SOL increases.

48

| Raising price of imports via tariffs might not reduce imports significantly as country

is refiant on imports.

Cause of trade deficit may be structural in nature e.g., due to loss of export
competitiveness.
The use of protectionist measures will not address the root cause of the problem.

Retaliation with Trade Partners or Beggar-Thy-Neighbour

Trade partners may lodge a complaint to WTO or retaliate to raise their own trade
barriers.

This may divert trade to other countries i.e., the affected trade partners may trade
less with the country.

In Beggar-Thy-Neighbour, trade partners may suffer from slower growth as a result
of the Protectionist Measures

This results in a fall in imports by the trade partners

This may result in a fall in the country’s exports.

Resultant fall in AD leads to a fall in NY via mulitiplier.

Evaluation
- Summative conclusion to which problem is the more significant and give
reasons to support this claim

o_mm_. m:m_S_n explanation of 2 v..o»mn:c:.mn aouuc-o« with cxn_:_u_oa

L2 Undeveloped explanation of 2 protectionist measures with poor or no
(5-7) examples showing how material SOL increases.

L1 Unable to identify theory or done without explanation

- Govemment may raise trade barriers to reduce imports thereby increasing AD.
- However, such measures may result in problems related to the limitations of
protectionist policies or unintended consequences such as trade-offs with the

(1-4) Descriptive answers lacking in tools of analysis.

Problems derived because of protectionist policies

Nil

Introduction:
Using ADAS framework
- State such problems could be related to the limitations of protectionist policies
or unintended consequences such as trade-offs with the achievement of other
economic goals.

(Note: not all the arguments suggested here are necessary; within the given time
constraint, a balanced analytical answer will suffice.)

Trade-offs or side effects
Tariffs results in higher prices of goods and services
It also results in higher cost of imported factors of production.
Resulting in higher GPL which may lower purchasing power and material SOL

Inelastic demand for imports.

achievement of other economic goals.

Trade- )

The imposition of tariffs will result in an increase in prices of imported goads. Tariffs are
imposed on EEEEE@E that would protect the firms and
workers in these industries. However, one problem is that this would lead to imported cost
push inflation and raise the unit cost of production leading to a fall in SRAS and increase in
general price level. This is especially so if the raw materials are essential for other industries
e.g., protection of steel industry in USA resulted in higher cost of production for the
automobile industry. As prices of goods and services such as cars increases, purchasing

power and material SOL decreases.

Generat
Price
Level
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Criteria: Reliance on trade.

Reason: Trade-reliant countries that depend on imports for raw materials and final products
may find that implementing protectionist measures will disrupt trade that will counter what
they intend to achieve through trade. They might even end up worse off if other countries
retaliate.

Therefore, my judgment is that governments might want to consider altemative ways to
improve SOL. Protectionist policies pose many problems and often result in more severe
unintended consequences. Countries that are trade-reliant should aim to improve their export
competitiveness by achieving price stability or increasing the quality of their exports so as to
improve export competitiveness. The non-material aspect of SOL is also very important and
governments should also consider improving aspects such as working hours, pollution level
and access {o healthcare.

OR

with the m.ﬁhm of the economy.

Criteria: State of economy.

Reason: Some countries have a deep recession that requires multiple policy approaches.
Using protectionist measures may help to boost its standard of living together with other
policy measures such as Fiscal and Monetary policies. During a severe recession e.g. US
2008, there may be trade-offs/limitations/trade disputes but the economic priority is to secure
jobs. Hence the US government may prioritise achieving economic growth via increasing AD
by imposing protectionist measures.

Therefore, my judgment is that in some situations, protectionist policies should be adopted as
a short term measure to improve SOL as they can be effective in saving jobs. However, they
should be removed in the long term because of the inefficiencies created. Domestic firns
should not be allowed to become complacent as ultimately, domestic consumers will suffer
from higher prices, less variety and lower quality of goods and services. This will harm their
SOL.

._.zoacm: _Soi_onmm of the _u_.o_u_oam that a mo<m33m:~ must no:m_aaq
L3 when implementing protectionist measures.

(8 —10) Complemented by using appropriate examples and detailed analysis with

sound economic framework.

Sufficient knowledge of the problems that a government has to consider

when implementing protectionist measures.

Complemented by using examples and analysis with economic framework.

L1 Unable to identify theory or done without mxu_m:mzo:.

i ing in tools of anal m_m

v3<_nmm a sound economic _:ammama about the significance of the
(4 - 5) problems that a government has to consider supported by strong reasoning.
E2 Some attempt at evaluation or a summative conclusion.
Reievant to the question but does not explain the judgement or based it on
relevant analysis.
E1 Unsupported evaluative statement(s) or judgements.
)] One that lacks explanation.
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